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CHAPTER REVIEW

1. Water hag an Unusually high Specific heat Capacity, Which one of the fo
.Iogically follows from this fact?

y bold-faceq
her Q for the

Heat Gained o Heat
Lost? :

An ice Cube js placed into
a glass of room
temperature lemonade in
order to cooj the beverage
down,

A cold glass of
lemonade Sits on the
Picnic table in the hot

The burnerg on an
electric stove are turned
off and gradually cog|
down to room
temp €rature,
The teacher rémoves 3
large chunk of dry ice
from a thermos and places
it into Water. The dry ice
subl"imes, producing )
9aseous carbon dioxide.
Water vapor in the
humidiﬁed air strikeg the
window and turns tq a.

dew drop (drop of liquid
water),




dto 78.4°C. It is
oom temperature water
emperature of 28.1°C.
ermine the mass
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h and warme

ced ina hot water bat

.An 11.98-—g1%m sample of zinc metal is pla
dintoa styrofoam cup containing 50.0 mL of r
warms to a t

nen removed and place
1.00 g/mL, c=4.186 j/g°C). The water
he density t0 det

T=27.0°C; density = 1-
i ity of the Zzinc. **Hint- use t

Setermine the speci
of the room temperature water** _
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termine the amount

5. Jake grabs @ can of soda from the closet and pours it over ice ina cup. be
erature soda as it melts 61.9 9 of ice (AHfusion = 333 1/9)-

of heat lost by the room temp

Q: b

Determine the

s 570 /9.
xide. (Given:

rbon dioxide) i
g carbon dio

olid ca
to gaseou

£ sublimation (AHsub“maﬁon) of dry "\ce (s
-pound bag of dry ice in

6. The heat O
amount of heat required to turn a 5.
1.00 kg = 2.20 1b) y
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3.82-gram sample of

f heat required to increase the temperature of a
4°C to its liquid state at 75°C. Para-dich\orobenzene has a
of 124 1/9 and specific heat capacities of 1.01 3/g/°C

ine the amount
ch\orobenzene from 2
t of 54°C, @ heat of fusion

7. Determ
solid para—d'\

melting poin
) and 1.19 3/g/°C (liquid state).
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